3
Answer: %(1 + 2x)2+ C

Question: Find [ 3cos(3x) dx
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1
1-2x

+ C

Answer: y = —

Question: Find [ 2 sec(2x) tan(2x) dx
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u2
Answer: ~ + C

Question: Find y if y' = 2x V1 + x?
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Answer: eX* + C

-2
(1—-2x)2

Question: Find y if y' =
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Answer: —%(sz +1)7%+C

Question: Find [ udu
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Answer: V1 —x2+C

Question: [ 2x e* dx

I SUB, U-SUB, WE ALL SUB AGAIN KZU
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Answer: In |sin(x)| + C

4x
(2x2+4+1)3

dx

Question: Find [
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Answer: sin(3x) + C

Question:

[0 —x®) 72 (=20)dx
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Answer: sec(2x) + C

cos(x)

Question: Find [ dx

sin(x)
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KEY

Answer—> Question
A->C
B—>D
C—>E
D2>F
E2>G
F2>H
G-I
H-2>A
| > B
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